## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving & Supporting the Boys & Girls Club of the Tohono O'odham Nation allocation of Surplus Funds of \$200,000.00 for Fiscal Year 2008)

RESOLUTION NO. <u>07-559</u>

1	WHEREAS,	by Resolution No. 06-541 stating the Tohono O'odham Legislative Council "commits
2		to financially assist for fiscal years 2008 & 2009 to promote and enhance the growth
3		of the O'odham Youth by providing a safe, positive, and enriching program for all of
4		the Tohono O'odham Nations youth"; and
5	WHEREAS,	by Resolution No. <u>06-541</u> stating "the Tohono O'odham Legislative Council hereby
6		supports the Future Boys & Girls Club of the Tohono O'odham Nation to become a
7		chartered club of the Boys & Girls Club of America in Indian Country"; and
8	WHEREAS,	within the past year the Future Boys & Girls Club of the Tohono O'odham Nation
9		(BGCTON)hassignedupover250membersthroughouttheTohonoO'odhamNation,
10		after-school program and Summer Services "providing a safe, positive, and enriching
11		program for all of the Tohono O'odham Nations youth." As well as hundreds of youth
12		who participated in BGCTON events such as; HorseCamps, 2006 Rodeo Series, Young
13		Women are Sacred workshops, Boys Night Out, Girls Night Out, Kentucky Camp, T.O.
14		Youth League (baseball), Six Flags "Red-Eye" summer vacation, and numerous field
15		days to various Tohono O'odham Nation communities; and
16	WHEREAS,	the BGCTON continues working to become a chartered club of the Boys & Girls Club
17		of America (BGCA) in Indian Country, and with the understanding that this
18		continuation of funding supported by the Tohono O'odham Nation Executive Office
19		and  To hono  O'odham  Legislative  Council  is  a  requirement  from  the  Boys  &  Girls  Club
20		of America (BGCA); and
21	WHEREAS,	the BGCTON has also applied for other "grant opportunities specific for Boys & Girls
22		Clubs in Indian Country on behalf of the Boys & Girls Club of the Tohono O'odham
23		Nation, as an entity of the Tohono O'odham Nation" by Resolution No. <u>06-541</u> .
24	NOW, THEF	REFORE, BE IT RESOLVED THAT the Tohono O'odham Legislative Council hereby
25		authorizes and appropriates from the Surplus Fund, \$200,000.00 to the Boys & Girls
26		Club of the Tohono O'odham Nation for Fiscal Year 2008.
27		

	RESOLUTION NO. <u>07-559</u> (Approving & Supporting the Boys & Girls Club of the Tohono O'odham Nation allocation of Surplus						
	Funds of \$200,000.00 for Fiscal Year 2008) Page 2 of 3						
1	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the $12^{TH}$ . Day						
2	of <u>SEPTEMBER</u> , 2007 at a meeting at which a quorum was present with a vote of $\frac{1,966.4}{1,966.4}$ FOR; $\frac{386.35}{1,966.4}$ FOR; $\frac{386.35}{1,966.4}$						
3	AGAINST; 181.75 NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by						
4	Section $\underline{1(d)(2)}$ of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the						
5	Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant						
6	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June						
7 8	18, 1934 (48 Stat. 984).						
9	TOHONO O'ODHAM LEGISLATIVE COUNCIL						
10							
11							
12	Their Muld In						
13	Verlon M. Jose, Legislative Chairman						
14	16 of the state of						
15	<u>19</u> th day of <u>Sept.</u> , 2007						
16							
17	ATTEST:						
	AllESI:						
18							
19	Yung Sale						
20 21	Lucille Lopez, Acting Legislative Secretary						
22							
23	12 day of <u>Auptrahn</u> , 2007.						
24							
25	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham						
26	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the						
27	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective						
28	upon his approval or upon his failure to either approve or disapprove it within 48 hours o						
29	submittal.						
30							
31	TOHONO O'ODHAM LEGISLATIVE COUNCIL						
32							
33	0 11 5 1 11 7 1						
34	Jellan uney for						
35	Jelina Munty for Verlon M. Jose, Legislative Chairman						
36							
37							
38							
39	on the 24 day of September, 2007						
40	101 111 111 111 111 111 111 111 111 111						
41	[ ] DISAPPROVED on the 24 day of September, 2007  [ ] DISAPPROVED at 12.23 o'clock, P.M.						
42	I DISAFFROVED at 1 June 1						
43							
44							
45	NED NORMS, JR., CHAIRMAN						
45 46	TOHONO O'ODHAM NATION						
47	IOHONO ODIEMI MALAON						
48							

	RESOLUTION NO. <u>07-559</u> (Approving & Supporting the Boys & Girls Club of the Tohono O'odham Nation allocation of Surplus Funds of \$200,000.00 for Fiscal Year 2008)
	Funds of \$200,000.00 for Fiscal Year 2008)
	Page 3 of 3
1	Returned to the Legislative Secretary on the $\frac{\partial \Psi}{\partial \theta}$ day of
2	level 10.21
3	
4	
5 6	Lucille Lopez, Acting Legislative Secretary
7	Lucille Lonez, Acting Legislative Secretary
8	nuclic Bopes, noting acquisites a socious,
9	
10	
11	
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28	
29	
30	
31	
32	
33	
34 35	
35 36	
30 37	
38	
39	
39 40	
41	
42	
43	
44	
45 46	

ACTION: APPROVING & SUPPORTING THE BOYS & GIRLS CLUB OF THE TOHONO O'ODHAM NATION ALLOCATION

OF SURPLUS FUNDS OF \$200,000.00 FOR FISCAL YEAR 2008

MOVED: COUNCILWOMAN ETHEL GARCIA SECOND: COUNCILWOMAN OLIVIA VILLEGAS-LISTON

DATE: SEPTEMBER 12, 2007

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 316.9	1. FRANCES MIGUEL (Roberta Harvey)	158.45	X	v		
	2. FRANCES G. ANTONE	158.45		X		-
CHUKUT KUK	1. ETHEL GARCIA	132.40	x			
264.8	2. VERLON M. JOSE	132.40	Х			X
GU ACHI	1. TIMOTHY L. JOAQUIN (Louis L. Johnson)	113.95		X		
227.9	2. CYNTHIA E. MANUEL	113.95		Х		X
GU VO	1. GRACE MANUEL	99.60	x			
199.2	2. MICHAEL FLORES ( )	99.60	X			
HICKIWAN	1. MICHELLE ORTEGA	86.00	X			
172.0	2. SANDRA ORTEGA	86.00	X			
PISINEMO	1. CHESTER ANTONE	91.20	X			
182.4	2. GERALD FAYUANT	91.20			Х	
SAN LUCY	1. LORRAINE EILER	90.55	X			
181.1	2. GLORIA RAMIREZ	90.55			Х	
SAN XAVIER	1. FELICIA NUÑEZ	98.25	х			
196.5	(Adam P. Andrews) 2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	98.25	Х			
SCHUK TOAK	1. FRANCES B. CONDE (Frederick Jose)	77.30	X			X
154.6	2. PHYLLIS CACHORA (Agnes Joaquin)	77.30	х			
SELLS	1.KIMBERLY LISTO	222.35	X			
444.7	2.EVELYN B. JUAN MANUEL	222.35	Х			
SIF OIDAK	1. WAVALENE ROMERO	97.20	Х			
194.4	2. MARY LOPEZ ( )	97.20	х			
	TOTAL	2,534.5	1,966.4	386.35	181.75	[03]